HEBILEAERE

FEISHEHRRN BT T =FFMIERR)

BERHNERE

(B) F29%F4A1H () F3043H31H
(BEAT : )
BERE HRELER NP P aF PIEPER M2 sEABE

NERRT RN 151, 153, 295 151, 153, 205 151, 153, 205
E BRI 0

IR BN 0

REBRLNS 0

BRI 0

BB RSB 0

0

0

0

B 55

o | = ammmhms
N T
bl |msmmsm e

FOMORE 1,800, 000 1,800, 000 1,800, 000
AL [p-tzmmmimasst (1) 151, 153,295 0 1,800,000 152, 953, 295 0 152, 953, 205
PN 91,106, 457 91,106, 457 91, 106, 457
B
]

o 31,584, 398 31,584, 308 31,584, 398

E=ir 15,927, 184 284, 600 16,211, 784 16,211,784

| |PExEmzmm 0 0

EEREEA 0 0

BRI 0 0

A 8,510, 507 1,113,829 9, 624, 336 624, 336

EEEN S S BIRE SEEREA -3,016, 000 -3,016, 000 3,016, 000

BURFHE 370 370 370

BURRHES| SRR 0 0

ZDAOER 0 0

H—PEBHEAS (2) 144,112,916 0 1, 398, 429 145,511, 345 0 145,511, 345

F-EREBEEEE (3) = (1) - (2) 7,040, 379 0 401,571 7,441, 950 0 7,441, 950

BARFIS IR IR 0 0

SR REL S RUNES 2,596 2,596 2,596

TSP 0 0
| | B

&S

|| %8| s e s
E| |EAnirEmizs

Z|  |WiszEETm 0 0

| |zotoy-eREBsRE , 494, 050 , 494, 050 494,050

& [P-CXEERasEE (4) 496, 646 0 0 496, 646 0 , 496, 646

ZIFIR 500, 593 36,671 537, 264 537,264

| |emaEsmE 0 0

B simEssma 0 0

| g | 1A T 25 S TATE 0 0

0| | BEBHHES 7R 0 0

ap| | BARARE S 0 0

oA i) 0 0

ZOMOY—CREESIEF 0 0

J-bEBIAEAET (5) 500, 59 0 36,671 537, 264 4

G-EREBIMZAEL (6) = (4) - (5) , 996, 05 0 =36, 671 . 959, 382 2

[EEEEEE (7) = (3) + (6) 036, 43 0 364, 900 401, 332 2

R RS AR INAE 0 0

MRS BRI 0 0

RRESERMEARTLERSHRING 0 0

1y | B 0 0

EEEEA 0 0

B IRHRA RIS 500, 000 500, 000 500, 000 0

0 0

0 0

0 0

0 0

0 0

0 0

0 0

0 0

0 0

0 0

0 0

0 0

0 0

0 0

S
3
©

B 55

>

N
N
)

0 5317,
0 1,959,
0 9, 401,

w©o|—
©

| | BEEOEEEAEBERE

2 ZORBDEEBIUREE

- !:.«*;Eljg??r (8) 500, 000 0 0 500, 00
BAEHAE

| | GRS

o| |BEEEESLIE- 08

zp| | EVEHBN RS RIS REAE (BRADE)

RN A RIS BT

SEBE

BEXDEASER 500, 000 500, 00

BEXDMETEEEBEEA

ZOMDEEBIER

500, 000

30

500, 000

|_[4SRIEmEt (9) 0 500, 000 500, 00
| [A5RIEiREEE (10) (8) - (9)
| HEENERELR (11) (7) + (10)
BIHAIE BT SNEHALE (12) .
LHEAKAREUE MBS (13) = (11) + (12) 11,
EASHALE (14) 0
TOMOIET SEREREE (15) g
3

500, 000
0

I=3

0

0 0 -500, 000

2 0 -135, 100 9. 401, 0 9, 401,
0

2

14,768, 801 16, 430, 16, 430,
0 14, 633, 701 25,831, 0 25, 831,

ZOMOIETSAETEE (1 6)
REBSMUEBMERNAELE (17) = (13) + (14) + (15) — (16) 11,197, 992 0 14, 633, 701 25, 831, 69

wlolofo

0 25, 831, 69.

11



